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Determinantes de tercer orden  

PROBLEMA OPCIONES DE RESPUESTA 
      

ORIENTACIONES 

1.  

 
Al calcular el valor de  
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Se obtiene:                                         
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Al resolver: 

A = |
|

1

3
       

−5

3
      

1

2

6        
1

5
       3

4

5
        

7

3
       0

|
| 

Se obtiene: 
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3.  

Al resolver: 

|
2 −7 5
4 8 −3

12 0 −2
|; se obtiene: 
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4                   
−305 

 

 
 

4. 

Al resolver: 

A = |
1        2       0
0        1       2
1        2       0

|; se obtiene: 

 

1         3 
 

2             0  

 

3             1 

 
4              6 

 

5. 

Al resolver: 

A = |
6    − 4          3
2        0           1
1        3      − 2

|; se obtiene: 

 

1             10 
 

2    12 

  
3             7 

 
4    8 
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